

## कार्यपालक अभियंता का कार्यालय ग्रामीण कार्य विभाग, कार्य प्रमंडल, सिकहरना, ढाका। पत्रांक - 12.27......./सिकहरना, ढाका, दिनांक-25-27-2223

सेवा में,

M/S Dhirendra Construction Pvt. Ltd., Sri Krishna Nagar, Motihari, Dist- East Champaran

विषय:- पुनरीक्षित कार्यादेश के संबंध में।

प्रसंग :- अधीक्षण अभियंता, ग्रामीण कार्य विभाग, कार्य अंचल-मोतिहारी का ज्ञापांक-803 (अनु0) दिनांक-18.07.2023

महाशय,

उपर्युक्त विषयक अधीक्षण अभियंता, ग्रामीण कार्य विभाग, कार्य अंचल—मोतिहारी का ज्ञापांक—520 दिनांक—31.05.2023 के द्वारा MR-3054 (New Maintenance policy-2018) योजना अन्तर्गत Package No.-MR-N/2022-23/Dhaka/01 (1) Bagha Shekhauna Tola to Lohan Tola Tak (2) GBC Road Bankatwa to Sunderpur via Baluadhanukhi (3) Sikarganj Narulahpur to Bheriyahi (4) Ghorasahan Main road to Baya Muhalla under Ghorasahan block का पथ निर्माण कार्य आपको आवंटित हुआ था, जिसका एकरारनामा आपके द्वारा दिनांक—24.12.2022 को किया गया था। अधीक्षण अभियंता के प्रासंगिक पत्र के द्वारा पुनरीक्षित परिमाण विपत्र का तकनोकि स्वीकृति प्राप्त हुआ है। जिसके आलोक में किये गये एकरारनामा के राणि में आव"यक सं"गोधन कर पुनरीक्षित कार्यादे" दिया जाता है।

विश्वासभाजन

कार्यपालक अभियंता, ग्रामीण कार्य विभाग, कार्य प्रमंडल, सिकहरना, ढाका। SE, RWD, Motihari, Letter No.-803/ Dated -18.07.2023 MBD No.-21 MBD/2022-23 Has been revised

Name of Contractor :-

M/S Dhirendra Construction Pvt. Ltd.,

Sri Krishna Nagar, Motihari,

Dist- East Champaran

Name of Work

के अधीन

3054(MR) New maintenance Policy-2018

Sl.No.	Name of the Road
1	Bagha Shekhauna Tola to Lohan Tola Tak
2	GBC Road Bankatwa to Sunderpur via Baluadhanukhi
3	Sikarganj Narulahpur to Bheriyahi
, 4	Ghorasahan Main road to Baya Muhalla under Ghorasahan block

Previous Agreement Value :- Rs. 4,44,59,659.00

Supplementary Agreement Value :- 23,41,117.00 (Rupees twenty Three Lac Fourty

One Thousand One Hundred

Seventeen)

Performance Security & Add. PS. - (Required Amount)

Submitted By Contractor Rs. (Amount) -

Rate

Date of Work Order :

Revised BOQ Item of Work :- GST

Contract Date of Completion :-

Dhirendra Construction Pvt. Ltd.



BIHAR GOVERNMENT OF BIHAR

OVERNMENT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT OF BIHAF

MON JUDICIAL INDIA NON JUDICIAL INDIA NON JUDICIAL

WHAR GOVERNMENT OF LIHAR GOVERNMENT OF BIHAR

LJUDICIAL INDIA NON JUDICIAL INDIA NON JUDICIAL

MMENT OF BIHAR GOVERNMENT OF BIHAR LON SUDIA NON JUDICIAL INDIA NON JUDICIAI

BIHAR GOVERNMENT OF STHAR

I JUDICIAL INDIA NON JUDICIAL BIHAR GOVERNMENT OF BIHAR

JUDICIAL INDIA SON JUDICIAL BIHAR GOVERNMENT OF BIHAR

DICIAL INDIA NON JUDICIAL R GOVERNMENT OF BIHAR

ACIAL INDIA NON JUDICIAL AR GOVERNMENT OF BIHAR

DICIAL INDIA NON JUDICIAL R GOVERNMENT OF EIHAR

AL INDIA NON JUDICIAL

OVERNMENT OF BIHAR

I BEDITH NOW ACTOR L

OVERWINENT OF CHAI

CIAL INDIA NON JUDICIAL

CIAL INDIA NON JUDICIAL R GOVERNMENT OF BIHAR

AR DOVERNMENT OF RIHAR

NMENT OF BIHAR GOVERNMENT OF BIHAR G

IAL INDIA NON JUDICIAL INDIA NON JUDICIAI GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT OF B ENT OF BIHAR GOVERNMENT OF BIHAR GOVE INDIA NON JUDICIAL INDIA NON JUDICIAL INDIA NON INDIA NON JUDICIAL INDIA HON JUDICIAL INDIA HON JUDICIAL INDIA HON GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT

DIA NON JUDICIAL INDIA NON JUDICIAL GOVERNMENT OF BIHAR GOVERNMENT (GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR INDIA NON JUDICIAL INDIA NON JUDICIA 

INDIA NON JUDICIAL INDIA NON JUD GO CERTIFICATE NOHAR GOVERNMEN INEBR-23005/16732NT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR SOVERNMENT OF L INDIA NON JUDICI INDIA NON JUDICIAL INDIA NON JUDICIAL INDIA NON JUDICIAL INDIA DOA 30 Certificate Issue Date/Ernmen 24-Jul+2023 12:34 PM of BIHAR GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR

IAL INDIA NON RICH HA NOŃ JUDICIAL INDIA NON JUDICIAL INDIA NON JUDICIAL INDIA NON JU GRN No. OF BIHAR GOVERNMEN BHR20230700584231EF BIHA

Unique Doc Reference EST-BR-4605-2300003499

21N-BR-2300618732:N-BR-2300518732:N-B

GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT

INDIA NON JUDICIAL INDIA NON JUDICIA

GOVERNMENT OF BIHAR GAVERNMENT OF BIHAR GOVERNMENT OF

Party Name AL INDIA NON JUDIODHIRENDRA CONSTRUCTION PVT LTD

NO Purchased by Lindia non Judic DHIRENDRA CONSTRUCTION PVT LTD

NMENT OF BIHAR GOVERNMENT OF BIHAF Purpose DICIAL INDIA NON JUDISAgreement or Memorandum of an Agreement Article no (05) NON JUDICIAL INDIA NON JUDICIAL

No Stamp Duty Paid (Rs.) : 1000 (One Thousand Only)

ND Reg. Fee (Rs.) INDIA NON 0 (Zero Only)

LLR & P Fee (Rs.) 0 (Zero Only)

Miscellaneous Fee (Rs.) 0 (Zero Only) 0 (Zero Only) Discore SC (Rs.)

GOVERNMENT OF BIHAR

DIMA NON HIDICIAL INN

GOVERNMENT OF BIHAR

INDIA NON J

INDIA NON

GOVERNME IN-BR-2300 DHIRENDR INDIA NON GOVERNME

INDIA NON JUDICIAL INDIA

1000 (One Thousand Only) Go Total Amount (Rs.) INDIA NON JUDICIAL IND

Supplementary Agreement

UNDIA NON JUAgreement No....... MBD/R.W.D. Dhaka/3054(MR) GOVERNMENT OF BIHAR GO

INDIA NON JUDICIAL INT 20 This agreement, made the day of

GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT BETWEEN Executive Engineer RWD (W) Div., Dhaka of the one part, and M/S OF BIHAR BOVERNMEN Dhirendra Construction Pvt. Ltd., Sri Krishna Nagar, Motihari, Dist- East Champaran of the another part. Whereas the Employer is desirous GOVERNMENT THAT A the VE Contractor execute Construction of Package No.-MR-N/2022-GOVERNMENT 23/Dhaka/01 (1) Bagha Shekhauna Tola to Lohan Tola Tak (2) GBC Road GOVERNMENT Bankatwarto Sunderpur via Baluadhanukhi (3) Sikarganj Narulahpur to udicial EST BR 4605 Bheriyahi (4) Chorasahan Main road to Baya Muhalla under Chorasahan udicial GOVERNMENT block, Under Package No.-MR-N/2022-23/Dhaka/01 Tender ID-117740 and the DHRENDRA employer has accepted the Bid by the contractor for the execution and completion 100010001000 of such works and the remedying of any defects therein at a cost of Rupees GOVERNMENT

3341117.00 (Rupees twenty Three Lac Fourty One Thousand One Hundred ERNMENT OF ELAN 2300518883

**0100010001000100010001000100010001**00010001000100010001000100

JUDICIAL INDIA NON JUDICIAL INDIA NON JUDICIAL INDIA NON GOVERNM1. The authenticity of this Stamp certificate should be verified at https://enibandhan.bihar.gov.in.or.using enibandhan Mobile Appernment of RIDIA NON JAny discrepancy in the details on this Certificate and as available on the website/Mobile App renders it invalid ON JUDISIAL INDIA NON JUDISIAL

GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR GOVERNMENT OF BIHAR

INDIA NON3, In case of any discrepancy please inform the Competent Authority, Judicial India non India non Judicial India non Judicial India non India non Judicial India non I DHIRENDRACONSTRUCTIONPVTLTDDHIRENDRACONSTRUCTIONPVTLTDDHIRENDRACONSTRUCTIONPVTLTDDHIRENDRACONSTRU

Dhirendra Construction Pvt. Ltd.

Executive Enginee J R. W. D. (Works Oivision Dhaka X104123

## NOW THIS REVISED AGREEMENT WITNESSETH as follows:

1. In this Revised Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to, and they shall be deemed to form and be read and construed as part of this Agreement.

2. In consideration of the payments to be made by the Employer to the Contractor as hereinafter mentioned, the Contractor hereby covenants with the Employer to execute and complete the Works and remedy any defects therein in conformity in all aspects with the provisions of the Contract.

- 3. The Employer hereby covenants to pay the Contractor in consideration of the execution and completion of the Works and the remedying the defects wherein the Contract Price or such other sum as may become payable under the provisions of the Contract at the times and in the manner prescribed by the Contract.
- 4. The following documents shall be deemed to form and be read and construed as part of this Agreement, viz:
- i) Letter of Acceptance;
- ii) Notice to proceed with the works;
- iii) Contractor's Bid;
- iv) Contract Data;
- v) Special Conditions of contract and General Conditions of Contract;
- vi) Specifications;
- vii) Drawings;
- viii) Bill of Quantities; and

The Common Seal of

ix) Any other document listed in the Contract Data as forming part of the contract.

In witness whereof the parties thereto have caused this Agreement to be executed the day and year first before written.

was hereunto affixed in the presence of:	
Signed, Sealed and Delivered by the said	
in the presence of:	
Binding Signature of Employer	
Binding Signature of Contractor	- Company was transfer and the second

Dhirendra Construction Pvt. Ltd.

R. W. D. (Works Division Dhaka

## अधीक्षण अभियंता का कार्यालय ग्रामीण कार्य विभाग,कार्य अंचल, मोतिहारी

чліт 803 (255) ніतिहारी, दिनांक 18/07/2023

प्रेषक:--

अधीक्षण अभियंता ग्रामीण कार्य विभाग कार्य अंचल मोतिहारी

सेवा में,

कार्य पालक अभियंता ग्रामीण कार्य विभाग कार्य प्रमंडल ढाका

विषय :--

ग्रामीण कार्य विभाग, कार्य प्रमंडल ढाका के अधीन एम0आर0—3054 अन्तर्गत जी0एस0टी0 दर 12 प्रतिशत से 18 प्रतिशत होने के कारण अद्यतन पुनरीक्षित परिमाण विपत्र अनुमोदनोपरान्त वापस करने के सम्बन्ध में।

प्रसंग :--

. आपका पत्रांक-834 अनु0 दिनांक- 20.06.2023

महाशय,

उपरोक्त विषयक प्रासांगिक पत्र द्वारा प्राप्त ग्रामीण कार्य विभाग, कार्य प्रमंडल ढाका के अधीन जी०एस०टी० दर 12 प्रतिशत से 18 प्रतिशत होने के कारण अद्यतन पुनरीक्षित परिमाण विपत्र अनुमोदनोपरान्त वापस किया जाता है।

क्र.सं	पथ का नाम/पैकेज संख्या	पुनरीक्षित परिमाण विपत्र की राशि
1	MR-N/2022-23 Dhaka /01	46800776.00

अनु०— यथोक्त।

विश्वासभाजन

अधीक्षण अभियंता ग्रामीण कार्य विभाग, कार्य अंचल, मोतिहारी

Dhirendra Construction Pvt. Ltd.

Executive Engine 5-72)

R. W. D. (Works)

Oivision Dhake

## Revised Abstract of BOQ for Package No.-MR-N/2022-23/Dhaka/01 Rural Works Department, Works Division, Dhaka

	Total :-			37319622.00	7140037.00	44459659.00	39282565.66	/310210.04	7000077000
4	Ghorasahan Main road to Baya Muhalla under Ghorasahan block	Ghorasahan	0.42	3255993.00	231709.00	3487702.00	3427190.05	243988.65 7518210.64	3671178.70 46800776.30
3	Sikarganj Narulahpur to Bheriyahi	Chiraiya	0.80	3687196.00	962271.00	4649467.00	3881234.34	1013231.06	
2	GBC Road Bankatwa to Sunderpur via Baluadhanukhi	Bankatwa	5.00	26237653.00	5623870.00	31861523.00	27617702.90	5921728.56	33539431.46 4894465.40
1	Bagha Shekhauna Tola to Lohan Tola Tak	Bankatwa	0.58	4138780.00	322187.00	4460967.00	4356438.37	339262.37	4695700.74
il.No.	Name of Road	Block	Length (K.M.)	Const.	Maint.	of BOQ on 12% (In Rs)	Const.	Maint.	BOQ on 18% (In Rs)
				Cost of BOC	on 12% (In Rs.)	Total Cost	Cost of BOQ on 18% (In Rs.)		Total Cost of

**Executive Engineer Rural Works Department** Works Division, Dhaka

J. E/Ghorasahan

Superintending Engineer **Rural Works Department** Works Circle, Motihari

Revised B. O. Q. (Dulto Encourse in 124 to 1811) is approved for Revised B. O. Q. (Dulto Encourse for Re. 46800776. or (Rupers four CASE Sixton Lake seven hundred gevenly sixty. For Jeisthus follow the instauction = ex letter No-761 dt 23.03.2023.

Superintending Engineer Rural Works Department Works Circle, Motihari

Dhirendra Construction Pvt. Ltd.



Name of Road- Ghorasahan Main Road To Baya Muhalla under Ghorasahan Block Block- Ghorasahan

District- East Champaran

Package No.-MR-N/2022-23/Dhaka/01

SI.No.	Item Description	/	As Per Sanctioned	Estimate / BOQ on 12	1	Length of Road :- 0.42 KM						
31.1407	mem pescription	Units				As Per R	evised Estimate / BO	Q on 18 % GST	Dif	ference	Tona se	
1	Ghorasahan Main Road To Baya Muhalia under Ghorasahan Block	-	quantity	Estimated Rate	Without Taxes	Quantity	Estimated Rate	Total Amount Without Taxes	Quantity	Amount	% (+/-) Amount	Remar
2	Schedule-1 Initial Rectification including Surface Renewal:-										-	
3	Clearing and Grubbing Road Land (By manual means) including uprooting wild vegetation, grass, bushes, shrubs, saplings and trees of girth upto 300mm, removals of stumps of such trees cut earlier & disposal of unserviceable materials & stacking of serviceable materials to be used or auctioned upto a lead of 1000 m including removal and disposal of top organic soil not exeeding 150mm in thickness as per technical specification clause 201.1 and direction of E/I	Hect.	0.08	59726.13	4778.09	0.08	59726.13	4778.09	0.00	0.00	0.00%	
4	Construction of subgrade and earthen shoulders with approved material obtained from borrow pits with all lifts and leads, transporting to site, spreading, grading to required slope and compacted to meet requirement of Table 300.2 with lead upto 1000 m as per Technical Specification Clause 303.1.	Cum	176.40	250.88	44255.23	176.40	250.88	44255.23	0.00	0.00	0.00%	
5	WBM Grading 3 (By Mechanical Means ) - Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 3 as per Technical Specification Clause 405.	Cum	35.47	5813.00	206187.11	35.47	5813.00	R	ral Wor	nding Eng ks Depart ircle, Mot 0.00	ment	

5ubendrakt 15.06-23 J.E

May oc 29

20.6123 EC

Dhirendra Construction Pvt. Ltd.

6	levelling the formwork as per drawing ) spreading the concrete with shovels, rakes, compacted using needle, screed and plate vibrators and finished in continuous operation	Cum	254.52	9422.33	2398171.43	254.52	9422.33	2398171.43	0.00	0.00	0.00%		
	compacted using needle, screed and plate	No.	100 100		5.10.86 9.86.64	1,60	- 40.61.3数 - 265.1.2年 - 147.7.83			***			
	expansion, constrution joints, applying debonding strips, primer, sealant, dowel bars, near approaches to bridge/ culvert and construction joints, admixtures as approved, curing of concrete slab for 14 days curing compound (where specified) and water		# 100 m			10.12		el commence					
7	Reinforced cement concrete M15 grade kilometre local stone of standard design asper IRC:8 fixing in position including painting and printing, etc as per drawing and technical specification clause 1703.		/	, ,		/			0.00	0.00	0.00%	A-1894 ** 0210 ** 5 	
8	ii) Km stone	No.	1.00	3035.18	3035.18	1.00	3035.18	3035.18	0.00	0.00	0.00%		
9	iii) 200 m stone	No.	2.00	823.07	1646.14	2.00	823.07	1646.14	0.00	0.00	0.00%		
10	Direction and Place Identification signs with size more than 0.9 sqm size board-Retro-reflectorised Traffic SignsProviding and erecting direction and place identification retro-Veflectorised sign as per IRC:67 made of encapsulated lens type reflective sheeting vide Clause 1701.2.3, fixed over aluminium sheeting, 2 mm thick with area exceeding 0.9 sqm supported on mild steel angle iron posts 75 mm x 75 mm x 6 mm, 2 Nos. firmly fixed to the ground by means of properly designed foundation with M-15 grade cement concrete 450 mm x 450 mm x 600 mm, 600 mm below ground level as per approved drawing and Technical Specification Clause 1701.	Sqm	1.92	15672.60	30091.39	1.92	15672.60	30091.39	0.00	0.00	Dural	intending Works De ks Circle.	epartmen

Subendrakr 15.06.23 5.E graff of July

20-6.23 FF

Dhirendra Construction Pvt. Ltd.

11	Providing and fixing of retro-reflectorised cautionary, mandatory and informatory sign as per IRC:67 made of encapsulated lens type reflective sheeting vide Clause 1701.2.3 fixed over aluminium sheeting, 1.5 mm thick supported on a mild steel angle iron post 75 mm x 75 mm x 6 mm firmly fixed to the ground by means of properly designed foundation with M15 grade cement concrete 450 mm x 450 mm x 600 mm, 600 mm below ground level as per drawings and Technical Specification Clause 801	100	1.00				Protes Sek		0.00	6.00	0.00%
12	600 mm equilateral & triangle	No.	4.00	4551.49	18205.96	4.00	4551.49	18205.96	0.00	0.00	0.00%
13	600 mm circular	No.	2.00	4580.15	9160.30 /	2.00	4580.15	9160.30 /	0.00	0.00	0.00%
14	600 mm x 450 mm rectangular	No.	2.00	4427.31	8854.62 /	2.00	4427.31	8854.62	0.00	0.00	0.00%
15	Road Marking with Hot Applied Thermoplastic Compound with Reflectorising Glass Beads-Providing and laying of hot applied thermoplastic compound 2.5 mm thick including reflectorising glass beads @ 250 gms per sqm area, thickness of 2.5 mm is exclusive of surface applied glass beads as per IRC:35 .The finished surface to be level, uniform and free from streaks and holes. (At Edge for CC Portion)	Sqm	84.00	925.46	77738.64	84.00	925.46	77738.64	0.00	0.00 Superii Rural \	tending Engineer Vorks Department S Circle Motihari

Subendrakr 15.06.23 J.E

Dhirendra Construction Pvt. Ltd.

P	roviding and fixing of typical MR informatory ign board with Logo as per MORD			The same of the sa	-1		15-	75				T
SI	pecifications and drawing. Three MS Plates	Dowland	1407/165	1915年	19.0	19 Hall	_ = = = = 1	100				
0	f 1.6 mm thick, top and middle plate duly							77.1	7			1
w	relded with MS flat iron 25mm x 5m size on	17.7		15.14.4	NO.	₩. T	1 - 2 - 1	<del>-</del> 1-	ALC: YES			
b	ack on edges. The lower plate will be	4	Land of	146 (166)	1 Part	1 =			page 1			
w	elded with MS angle iron frame of 25mm x	9.0	J. Lie	- 67	1,000		1					F -
2	5mm x 5mm. The angle iron frame of the											
10	wer most plate and flat iron frame of middle		V		.e.' e	2				-		
N	late will be welded to 2 nos. 75mm x 75 mm			/				",	-1 :			1
100	f 12 SWG shoot tubes posts of the control of the co						1 10					
16 in	f 12 SWG sheet tubes posts duly embedded			6	/				m s " l			
10	cement concrete M-15 grade blocks of	No.	5.00	11005.79	55028.95	5.00	11005.79	55028.95	0.00	0.00	0.00%	
1	50mm x 450mm x 600mm, 600mm below	ļ.						-	0.00	0.00	0.00%	
g	round level. The top most diamond plate will											1
D	e welded to middle plate by 47mm x 47mm											
0	f 12 SWG steel plate tube. All M.S. will be			3.93	E was							1
S	tove enameled on both sides. Lettering and	2.50	14 1									
P	rinting arrows, border etc. will be painted											
w	ith ready mixed synthetic enamel paint of											
S	uperior quality in required shade and colour.									14		
A	Il sections of framed posts and steel tube will											
b	e painted with primer and two coats of epoxy								in l			
Р	aint as per drawing Clause 1701 and								b 1			
P	Providing and laying of a reinforced cement											
0	oncrete pipe duct,300 mm dia, across the								e la	- 1	1	1
	oad (new construction), extending from drain			ī						NO U	0(1)	
	drain in cuts and toe of slope to toe of			1						$\sim 0.0$	uq	1
	lope in fills,constructing head walls at both								107	OV	Ihall	_
	nds, providing a minimum fill of granular				<i>2</i>	×			HI	(N)	W**	ŀ
n	naterial over top and sides of RCC pipe as								1,			1
p	er IRC:981997,bedded on a 0.3 m thick layer											
4- 0	of granular material free of rock pieces, outer	D	7.50	1011.00	7507.50							
17 to	o outer distance of pipe at least half dia of	Rm	7.50	1011.69	7587.68	7.50	1011.69	7587.68	0.00	0.00	0.00%	
p	pipe						1					
s	subject to minimum 450 mm in case of double						1			THE-IN		
a	and triple row ducts, joints to be made leak						- 1					
	proof, invert level of duct to be above higher	1						-	1			
t	han ground level to prevent entry of water											
a	and dirt, all as per IRC: 98 - 1997 and											
	approved drawings.					/		1				
	Total Construction cost Excluding all Taxes	- 00	1.00	00045 44	2864740.72	1.00	20015	2864740.72	0.00	0.00	0.00%	
	abour cess @1 %	RS RS	1.00	28647.41	28647.41 /	1.00	28647.41	28647.41	0.00	0.00	0.00%	-
	GST @12 %/18%		1.00	343768.89	343768.89	1.00		515653.33	9:00	171884.44 0.00	0.00%	
21 A	Add Seigniorage Fee @ 10%	RS	1.00	31912.41	31912.41	1.00	31912.41	31912.41	0.00			-
	OTAL CONSTRUCTION COST INCLUDING ALL				3269069.43			3440953.87	0.00	171884.44	5.26%	
	ess 0.40% Below as per Agreement (-)				13076.28			13763.82	0.00	687.54	5.26%	
	otal Construction				3255993.15			3427190.05	0.00	171196.90	5.26%	
	Schedule - 2 :-								0.00	0.00		

5ubendraky 15.06.23 3.E 100 K 60 KK

200.23

Dhirendra Construction Pvt. Ltd.



26	Five Year Ordinary Maintenance in Ghorasahan Main Road To Baya Muhalla under Ghorasahan Block	Quarterly	20.00	10274.55	205491.00	20.00	010274.55	205491.00	0.00	0.00	0.00%	
27	Labour cess @1 %	RS	1.00	2054.91	2054.91	1.00	2054.91	2054.91	0.00	0.00	0.00%	
28	GST @12 %/18%	RS	1.00	24658.92	24658.92	1.00	2004.01	36988.38 /	9.00	12329.46	50.00%	-
29	Add Seigniorage Fee @ 10%	RS	1.00	434.23	434.23	1.00	434.23	434.23	0.00	0.00	0.00%	-
30	TOTAL Maintenance COST INCLUDING ALL TAXES				232639.06		m	244968.52		12329.46	5.30%	
31	less 0.40% Below as per Agreement (-)				930.56	- (*)		979.87		40.01	£ 200v	
32	Total Maintenance						ding Engine		0,00	49.31	5.30%	
33	COST OF PROJECT IN RS. (A+B)							243988.65 - 1 3671178.70	0.00	12280.15 183477.05	5.30%	

Works Circle, Motihari

5 . o f. 23

20.6.23 EC

Dhirendra Construction PVI. Ltd.